Приложение 1
Замена  уравнения h(f(x))=h(g(x))  уравнением  f(x)=g(x)
1)  Показательные уравнения       af(x)=ag(x)          →  f(x)=g(x)  

Логарифмические уравнения    logaf(x)= logag(x) →  f(x)=g(x)  

ОДЗ:    f(x)>0
  




         g(x)>0
2)  Степенное уравнение (f(x))n=(g(x))n  
  n –четное                         n –нечетное

|f(x)|=|g(x)|  

           f(x)=g(x)  
3) Иррациональные уравнения:
[image: image2.png]Vi) =Yg




n –четное             n –нечетное 
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f(x)=g(x)  
4) Запрещено для тригонометрических уравнений:
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